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Answer the following questions
Q1: Put (√) against correct phrases, (X) against the wrong ones and state all possible corrections for the wrong statements
1- Ribosomes are formed of two sub-units; a large subunit consists of 3 rRNA molecules and a small subunit which contains two rRNA molecules. 
2- The presence of the satellite helps in determining the chromosome number.
3- DNA polymerase plays an important role in gene expression.  
4- The rough endoplasmic reticulum beside its role in proteins synthesis, it also responsible for lipid metabolism. 
5- The tight junctions are important to control the exchange of ions and salts between the basal sides of cells. 
6- If one of the cell organelles or proteins is no longer working properly, it will be expelled outside the cell.  
7- Membranes of all membranous organelles (such as mitochondria, Golgi and Ribososmes) have similar structure to the cell membrane. 
8- In the S phase of the cell cycle DNA is replicated, however, by the end of mitosis cytokinesis is completed. 
9- Actin, Vimentin and tubulin are important proteins because they form the cytoskeleton of the cell which responsible for cell mobility.  
10- The non living components of the cytoplasm (inclusions) are primarily stored food.      
Q2: Choose the best answer: 
1- When a mutation occurs in the telomerase, this means that
A – Chromosomes will not be able to replicate        B- The cell will divide spontaneously       C- Chromosomes will not be able to attach to spindle fibers           D- All of the above
2- α -Synuclein is a protein in the nerve cells. When it is misfolded and aggregated, it causes Parkinson`s disease. Which kind of mutation could cause this disease.

A-  A mutation in Golgi of the nerve cells     B- A mutation in the ER of the nerve cells   C- A mutation in α -Synuclein                D- All of the above
3-If a mutation occurred in the peptide signal of a protein, this may lead to 
A- Degradation of the protein
B- Misfolding of the protein
C- Transportation of the protein to a wrong position
D- The protein will not work
4- Where the insulin gene could be found in the skin cell?
A- Cytoplasm
B- Heterochromatin of the nucleus
C- Euochromatin of the nucleus
D- Nucleolus
5- A mutation in actin not only able to affect the cytoskeleton of the cell, but also able to affect 
A- Cell division 

B- Cell Growth 

C- Cell membrane
D- Cell size 
      
End of Questions

Best of Luck

D. Mohamed Kamal
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